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1. woTe MAARS ot Ted fil 1x5=5

Answer the following as directed :

(@) SRS o @b T f |

Give an example of continuous data.

(b) T Rpfes 5@ fomm

Write the formula of standard deviation.
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(2)

(0) STEa 2R WA AR ()1 T, (IR TR

CWT?Y 23 ?
What does it indicate if the value of
coefficient of correlation stands at (-)1?

(d) ﬁflGﬁﬁa3Uw'§m11m3;ﬁﬁl§mW3=Wﬁﬁ‘ﬂ¢$ﬁ5
. =
(1N 51 2[VFT)

The difference between the upper limit
and lower limit of a class is called
( Fill in the blank )

() GRR oy ‘REW vedRrs TH  FWH
(median)¥ SNH 2 |
(wm oG =37 )

The value of ‘second quartile’ is equal to
median in a set of data.
( Write True or False)

2. wore e R I PR e 5 GR 1=
5x2=10

Write short notes on any two of the
following :

(@ 9T @1 HF @R

Merits and demerits of mean
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(3)

(b) SuR Bex
Sources of data
(0) CSTMEHT WYATS T FREAZI ACAHATS!

Need of sampling in geographical
studies

3. oo fa oEe R e fofvtm e fom -
10%x3=30

Answer any three of the following questions :

(@ “ARIPR AR o [ w2 Tge TR
TS “ARTIYR MR @I 3691 3971 2+8=10
What is meant by ‘scales of

measurement’™? Describe different
‘scales of measurements’ with suitable

examples.
(b)) @TF zreeR Rfea ARTrEwER & 2 oo
S| AR LN o1 1 3+7=10

What are the different measures of
central tendency? Calculate the median
from the following data :

JURP SRS
Marks Frequency
0-10 5
10-20 15
20-30 12
3040 30
40-50 18
50-60 20
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(c]

(d)

)

@%Y (Random) YIF e e Tl
RETER WS “ede o | o1 T T o
TS’ I 2R (PR (S I |
4+6=10

Distinguish  between random and
purposive sampling. Explain the
procedure of ‘stratified’ sampling
technique by taking a suitable example.

ToTEE P 3 qE? ved oUREI [
PorRem ‘Tt AR TR A 491 -
2+8=10
What is meant by ‘correlation™?
Calculate Spearman’s ‘rank correlation
coefficient’ from the data given below :

St 124 M5 518 Y420 1+24 i 2885 ST 27
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12 | 15 | 20 | 25 | 22 | 26 | 27 | 28 | 25
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